3 (Sem-1) STS

2017

STATISTICS
( General )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions  as
directed : 1x7=7
were i P R T

(a) Mailed questionnaire method cannot be
used when the informants are

(Fill in the blank)
R ol oafe weEs IRT G
e fdg afeez =

(=14 o1 739 F1)

(b) Mean deviation is least when measured
about median. (State true or false)

S O[T I oG e SReE W = |
(373 /=Ty o)

(c) What is relative frequency?
e IRl 2
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(d)

(e)

(g)

2. Answer the following questions :

(2)

Fisher's index number is the of
Laspeyre’s and Paasche’s indices.

(Fill in the blank)

o IS RN WE A0S
oIS | (1T 312 opaet 1)
What is the relationship among mean,
median and mode of a symmetrical
distribution?

41 IS THAT [, WA WEF G W6
STIRECHT T4 |

Under what assumption would you use
Simpson’s $rd rule of integration?

o iy ffee wames S B
L S7aO! ercst St 2

Using ogive, we can determine a
particular measure of central tendency
namely ! (Fill in the blank)

wiere's fere Wit @@w o3 et @b [
1o fmEe $[7 A, dgees |
(T 212 =3 ¥4)

W 2HCARS Tl e

(@)

8A/334

Write down the differences between
classification and tabulation of data.
BUR ANFIT HE  ARATAR qGS =
ML 7 |

( Continued )

2x4=8

(b)

(c)

(@)

(3)

Prove that the sum of deviations of a set
of observations from mear is zero.

AN T @ TR [ 5T NG SweT
IS [ |

If f(x) =(1 -x)(l -2x)(1 - 3x), then find the
value of A3f(x].

M f)=(1-x1-2x01-3%) =, 3

" A3 xR = et <4 |

What are the limitations of index
number?

o SRIAF el & & 2

3. Answer any three of the following questions :

5x3=15

were [ cree fefeibt e Tag o

(@)

(b)

8A/334

Describe the different measures of
central tendency. Mention the merits
and demerits of arithmetic mean.

@R @3fes RSy wowre o a1 swes
¥ @9 W1 SR SrEe T4 |

Define index numbers. Describe the
price relative method of construction of
an index nurn_ber.

RIS ARG Gl viwri%ﬁ SN EATS
SO FfT 34T |
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(4)

(c) (i} Show that the standard deviation is
independent of change of origin but
not of scale. 3

ored @ e Roei ERE Rade
e WEefler W= R mRE WPR
AR 8oFe fEa |
(i) Calculate the median from the
following data : 2
T O 2] WG] ey 34
57, 58, 61, 42, 38, 65, 72, 66

(d) Derive Newton’s forward interpolation
formula. 5

FSH ) S ! el 1 |
(e) Write short notes -on : 3+2=5
B o1 foret
(i) Questionnaire and schedule

PP O Sl

(ii) Coefficient of variation

v @

Answer any three questions : 10x3=30

R i oGt e Taw fore

(a) () What do you mean by cumulative
frequency distribution? What are

its different types? 1+1=2
A% IR 767 JeicE T @2 [WR
R o 2
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(S)

(ii) Define moments. Show that
Mg =3 —3uoni +2u1°
in usual symbols.
FT T o1 | A IS ASIHA
(TS &
By =3 —3uspi +2u;°
(iii) Which measure is considered to
be the best measure of central

tendency? How will you calculate
median of a grouped frequency

distribution? 1+2=3

@FTE e HReE TeIFB AWH &2
@ Reofee IRERSl 359 G6R T4
g Rsre {72

(b) () Find the value of A" (e™*?),
A" (e by i ey

(i) Find the (n+1l)th difference of a
polynomial of degree n.
n 9SS IPM GBE (n+1FN O
Tferea |

(i) Given f0)=1, f()+f@) =10 and
fB)+ f@) + f(5) =65. Find f(4).
e wmeR f0) =1, fU)+f@) =10 =<
fB)+f@+fE)=65  f@R TIH
Sfere |
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(c)

(6)

() Write short notes on time reversal
test and factor reversal test. Name
the formula which satisfies both
the tests. 4+1=5
WY TN AR W T Seame
“RIFI 87Te 5 GR for | gt #
o 1 Sjachr aw f&74 o

(i) With the help of the following data,
show that Fisher’s index number is

ideal : 5

O YN R (TS (T R IS
S P :

Commodity

Base Year Current Year
= . e e =
Price | Quantity| Price |Quantity
= AR &0 A

15 8 25 12
10 7 12 15
8 5 17 7
20 16 23 8

O aw e

(d)

8A/334

(i) Estimate u, from the following
table : 2
o7 fdll CIferpITa o u, SR F :

ot L S b -
R T TS R |

( Continued )

(e)

8A/334

(7)

() State  Lagrange’s interpolation
formula. With the help of this
formula, prove that 4

Uy =uz -0-3(us ~u_3)+0-2(u_g -U_g)
FANGT S FEGT By w3
A RS 2N I @

U =uz -0-3(us —u_3)+0-2(u_g -u_g)

(it) Prepare a divided difference table

for the following data and then find
the value of f(6). +

T YN A9 @Y e wme el
2ES T WIF ©F °[ f (6 N Sfenay |
x 2 3 7 9 10
flxy : 168 . 120. 72 63

() What is numerical integration?
- Obtain the general quadrature

formula. 1+4=5
RIS e 627 RIS SFera
STIeT <3l T4t Sferear |

(@) If u, =a+bx+cx?, show that

3
|| uxdx =2u, +1—12-(u0 —2u, +uy) 3

W uy =a+bx+ox? @, o@ e
&

3
L U,dx =2u, +é(u0 —2uUgy +uy)

{ Tumm Qver )




(8)

(i) Prove that for any two values
(AM) (HM) = (GM)? . 2
4 I 1 R A A9 I @
(AM) (HM) = (GM)?

() (i) By using Newton-Raphson method,
find the root of x2 -5x+2=0
(correct up to three decimal places). 5
GRS 1k T s B - I | o B
x*-5x+2=08 ¥ Sfrea (wifis
ol sramters) |

(i) Write down the Simpson’s 3th
rule and find the value of the
following integration by numerical
integration : 1+4=5

6 1
J-omdx
omeioea 2 ot farmcht foran e SR
AP RS eq  WNIE WA
Sfereat :
6 1

01+ x

* ok Kk
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